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How many single handshakes?








What type of pattern is formed?




Can we describe it with a rule?





What graph is produced?


Can further values in the pattern be found?

Quadratic equations 




The basic parabola is the y = x2 graph

y = x2 + 3  

y = (x – 2)2
y = -2x2
y = (x + 3)(x + 1) 


Parabola graphs
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FEATURES


Vertical Translation





Horizontal translation
y = x2 + 5








y = (x – 2)2 

y = x2 – 2








y = (x + 1)2
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Parabola Introduction
























































Translations A





x intercepts





Vertex





y intercept
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Parabola Sketching








